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) ) Semiconservation replication of DNA was first
Annual Examination, 2022

demonstrated in :

B.Sc. Part II (a) Escherichia coli
MICROBIOLOGY
(b) Streptococcus pneumonia
Paper I

(c) Solmonella typhimuriam

(Molecular Biology and Genetic Engineering) (d) Drosophila melanogaster.
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Note : Section ‘A’ is Objective type and is compulsory. It " .
should be written on the first page of Answer- (¥) Tw @s T %l
book. Section ‘B’ is Short answer type and Section (2) a@%qﬁﬁm%quaﬁwg@m
‘C’ is Long answer type. Y Z2dl %|
gus 31 (Section ‘A’) When DNA replication starts :
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Multivle Ch (@) The phosphodiester bonds between the
ultiple Choice Questions
( P e ) adjacent nucleotides breaks.
el ST HT— 1x10=10
(b) The bond between the nitrogenous base &
Choose the correct answer : d b break
. . eoxyribose sugar break.
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2T T aT— (c) The leading strand produce okazaki
(1) TR Rl (9) Wi FHR fragment.
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PT.O. of two strand break.
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(iv)

[ 31

o 70 (Fa™1-70) o foTu I9g TX=AIH S e hl
=T Hi—
(37) rpoA (&) rpoC
(¥) rpoD (%) rpoZ

Choose the correct structural gene code for ¢ 70

(sigma-70) :
(a) rpoA (b) rpoC
(c) rpoD (d) rpoZ.

Tehtdied oF diciuerze e H 3ufeerd e THH
3T §—
(&1) et
() N-fRemafafe=-—=
(¥) N-iaEarafo=m==
() 3ugerd Gl |

The first amino acid present in the polypeptide

chain of the prokaryotes :
(a) Methionine

(b) N-methylmethionine
(c) N-formylmethionine

(d) All of the above.

I/52—22 P.T.O.

(v)

(vi)
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e | - W sTediHe IRd war g ?
(31) THeTEA-399 Hewhie

(&) AEERIEATe
(9) 3ARA 399 Thie

(T) TP |t |

Which of the following chemical induced depu-

rination ?

(a) Methyl ethane sulphonate

(b) Nitrosoguanidine

(c) Ethyl ethane sulphonate

(d) All of the above.

SOS HHd H, 398 ¥ 1 WitAfed 8l g ?
(3) rec A U

() lex A W2

(/) &Hi (31) 3R (&) wisferd &l

(%) S (31) 3R (&) witafer |

Which one is Not involved in SOS repair ?
(a) rec A protein

(b) lex A protein

(c) Both not inclided (a) or (b)

(d) Both included (a) or (b).
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(vii) Toeitha TR To—

(31) THRIHS FEHA ST T
(&) &S W S 8

(F) ¥TcHe TEHAE ST §
(T) THRIHE T 3T T

Tryptophan operon is a :
(a) Negatively repressible operon

(b) Positively inducible operon

(x)

[ 61

Which is used to cut DNA molecule in recom-
binant-DNA technology :

(a) DNA polymerase I (b) Restriction enzyme
(c) Kinase (d) Phosphatase.

pBR 322 ¥ fha" &R a1 B § ?
(37) 1000-3000 (¥) 4363
(9) 8463 (T) 10363

How many base pair present in pBR322 ?

(c) Positively repressible operon (a) 1000-3000 (b) 4363
(d) Negatively inducible operon. (c) 8463 (d) 10363.

(viii) SE| Bkl IEEIERIERET R el 7 Eus ‘'a’ (Section ‘B’)
(37) 9. €. areEd g FTOT TIT 3x5=15
(o) r3fed @ITIQTI 3R oA %WT (Short Answer Type Questions)
E:));‘ETW‘& re—aft uier we stfard €

Note : All the five questions are compulsory.

1. DNA &l qered ¥ s9ah! fag & o ganmes
2SI

Give the experimental evidence for DNA genetic

The term Bioinformatic was coined by :
(a) J. D. Watson

(b) Paulien Hogeweg and Ben Hesper

(c) Werner Arber

(d) Kuhne. material.
9. TS DNA Tehsiteh! H DNA ST0[31l i Sh1el Sl 5— gl / F)r
(31) DNA Wi 18 (&) faes Tsey 9 DNA TS | e for |

() HIAaSt () HIEhS |
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Write a note on DNA polymerase.
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2. 3G H YT T dTcl TSIEH ohi YfHeRT hl THEY |

Describe the role of enzyme involved in

transcription.
AT / Or

SRl Yfshan § 1T o a1t fafy= ek
U HIfTT |

Explain the various factor involved in translation

process.
. T o dfa ox feoft fafen—
Write a short note of the following :
IoeT AU T |
Excision repair system.

AT / Or
AR SREd |

Frameshift mutation.

. S 9 379 B FHIA © 2 S i fafy= sengal &
Hf =R THEET |

What do you mean by Gene ? Discuss the

different units of gene in detail .
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AL/ Or

HhRIcHR AT FhRIHS S fohan a9 &6t gar
ShITSTT |
Compare the positive and negative regulation of

Gene Action.

. FAIT deed R g o fafem

Write a short note on cloning vectors.
HAYAT / Or
DNA UG TSed § 379 1 J9ed § 2
What do you understand by DNA modifying
enzyme °?
wWus ‘9’ (Section ‘C’)
g i 99T 5x5=25
(Long Answer Type Questions)

e uter yv siferd §

Note : All the _five questions are compulsory.

. DNA 9fasfd Sfsham &1 9uiH hifed |

Describe the DNA Replication Process.
AT / Or
3Ifoereh Toe ok SR ol fasga avie ST |
Give a detail account of History of molecular
Biology.
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2. WhERd H T e STy, et den qume 31941 / Or
o T Sta g foam W ue it e fafe |

Explain the mechanism of transcription
Write a short note on Bioinformatics.

intiation elongation and termination in

prokaryotes. 5. Eﬁ?ﬁTTFI DNA T+l o T I ey fafea |
AT / Or Write an essay on enzymes in recombinant DNA

ARt W e ey fetfey | Technology.

Write an essay on translation.

3. INEdT oF AMRR q91 SR eh JuTal 9 gfara
e fod |

HYAT / Or
HIAH! BEfTSIESIA i Yfshar sl GHET |

Describe the Colony Hybridization Process.

DOV CHOOOVOY
Write a short note on beneficial and harmful

effect of mutation.

AT / Or
DNA i Hit 7eed fafy o1 faero difSa |
Describe the direct repair of DNA.

4. <9 gfeadt o 909 o fau STRiA afed &1 o=
T |

Explain the operon model for regulation of Gene

Activation.
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